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Osl 58| 338= 4,368
-HIes JI2= 7, 1203 x35KW+ 122 2,991
-HIIRs MEE 105.62 x660KW+ 123 837
-t 45,0003 * 122 540
OFusd)| A2l 12,768
-SAze fds2 484,000~ 122 5,808
-EHAESH| 330,000& * 122 3,960
-AIEEHl SAMSHI
1,500,000 *2CH 3,000
401 Al HIZL 201 80,000 80,000
01 Al&H| 80,000 80,000
Osd=2zaat ¢ s WAl At
80,000,000 1CH 80,000
2RSS S5 AE=S 7R 1,039,800 1,499,000 459,200
Al 1,039,800
201 Ler23| 1,039,800 949,000 90,800
Al 1,039,800
01 AtR2t2l] 17,600 3,500 14,100
LEEDE 2013HIEY 1,800
Al 1,800
OLEEHII AlZ2te| 23| 5,000
Al 5,000
ORAE+ 8 8 XtEelE| 10,800
Al 10,800
2 s5=34l 1,022,200 945,500 76,700
O332= 962,300
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2A:

Hm: YRGD OIEE T2 XA
el E2aE 2 JMAIZ= 2l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 962,300
O&J|etZe|He =2 9,900
Al 9,900
OAIZ2 &= X 50,000
Al 50,000
dF2LFH(d2e|nt) 196,963 105,138 91,82
el 2E | 113,893 0 113,893
el E2g| 113,893 0 113,893
101 eI24d| 113,893 0 113,893
02 JIEtA == 113,893 0 113,893
OAIRIEERIZI MBS (0HS) 113,893
=3 27,058,600 *3 81,176
IS (BIRA) 40,0002 <32+ 12& 1,440
IIESE(RLHE)
50,0002 *x3& * 12 1,800
- A ZAH| 140,000& x32* 123 5,040
e = | 175,000 35/40+3& » 122 5,513
-ZU2Rg
9,9002 % 35AI2+3E 123 12,474
S+dfsd
27,068,600& * 40/35+84%+5%+3 3,897
-S| 50,0003 «35/40+3H 123 1,575
-2 4|
27,068,600 / 12+84%+86%+*1/30%1/ 742 Al 2++3H
978
Jl=23H 83,070 106,138 N22,068
Jl=23H] 83,070 106,138 N22,068
201 fet= 3| 32,400 33,188 AT88
01 AtR2tc|HI 32,400 33,188 AT88
O=AEX 7 (M) 20,0003 » 1702 A 3,400
SAER 7 (B4) 30,0003 *102f A 300
O AI=EA M2AsE
20,0002 +3H 1204 = 720
Ot AI=Ed d=)| elE=
32,0003+ 12042 384
O&lH & 7&t 415,000 *4 L 52 8,300
ORAM2EII=2+EH]
20,0002 x24EH + 122 %95% 5,472
OAIZIRIZ R XS A
8,000 x24H+641x 123 13,824
202 04| 43,200 57,600 14,400
01 2LHA b 43,200 57,600 14,400
OZUotl 150,000 x24E 122 43,200
203 g4l 7,170 7,170 0
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orM 2te| 1t
dy2SAYI(ord 22 )
/=2 EERE)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
01 J|2=2gdR=aH] 2,970 2,970 0
OtH A= 3,300,000 *90% 2,970
=TT 4,200 4,200 0
ORAN2IYRETY
350,000 12 4,200
300 7,180 6,880
300 7,180 26,880
300,000 *1H 300
640,910 577,477 63,433
£ 640,910 577,417 63,433
s 28 640,910 577,417 63,433
I=dE3 640,910 577,417 63,433
I=dE= 640,910 577,477 63,433
iet2tellls 2 640,910
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